@ h?s:n(—5+ @) =2sin8 , show clearly that

tang=_Sin@

‘ A —cosa’

@ By expanding tan(6+45°) with a suitable value for 8, show clearly that kan1S = a+J b
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@ \ By expanding sin (45° - x) with a suitable value for x, show clearly that cosec § = Jatrde
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@ SinA=-Z and cosB=2
13 5

If A isobtuse and B is acute, show clearly that

. o
sin(A+B) =..g_
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O r The constants @ and b are such so that I

tana—l and tanb=-1—.
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f Determine the exact value of cot(a—-b), showing all the steps in the workings.
@ smx=—l-2 and cosy—E.
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If x is obtuse and y is acute, show clearly that

sin (x—y)=—aL—.
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i If 8 is reflex, and ¢ is also reflex, show clearly that sin (& - )= o
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